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3astpak |rop.6moao MTHLBI 2aNEYeHbIE C MACAOM 100| 42,39 229} s 27 12
rop.HanuToK Puc npunyieHbIii 180 7,26 197|225 Ak 4 35
xneb Yali BUTaMUHHbIM 200 5,07 83 1 0 20
Xneb paHoW 55 3,24 39 1 0 8
3asTpaK 2 |$pyKTL MDpyKT rpyia 303 51,64 38 0 0 9
109,60
06ep, 3aKycKa OBOLLW CBEMUE OrypLbl 60 4,88 11 1 0 2
1 6n0a80 Cyn ¢ Kypuuei ¢ Kpynoii 250 11,35 164 7 6 20)
2 6nogo Kotnera pbibHan 3aneueHan 80 24,26 176 10 9 13
Kaptodens Ton4eHbi no
rapHup OEepeBeHCKH 150 10,52 221 5 8 33
chagKoe Komnor 13 ceexmux nnoaos 200 5,30 83 0 0 21
xneb 6en. Xneb nweHWIHbIN 47 2,27 117 3 il 24
xneb yepH. Xneb pmaHon 26 1,54 81 2 0 18
PpyKT ABAOKO 209 19,88 59 0 0 14
80,00
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Burouku pybneHHbie n3
3asTpak |[rop.6nogo NTHLBI 3ane4eHble C Mac/loM 100 42,39 249 13 17 12
rop.HanuToK Puc npunyweHbiit 180 7,26]. 197 4 4 35
xneb Yaii BUTAaMUHHbIN 200 5,07 83 1 0 20}
Xneb paHol 55 3,24 39 1 0 8
3aBTpak 2 |QpyKTLI PpyKT rpywa 303 51,64 38 0 0 9
109,60
106eg 3aKycKa OBolLy CBEXMUE OrypLibl 100 8,16 11 1 0 2
16000 Cyn ¢ Kypuuel ¢ Kpynoi 250 11,35 164 7 6 20
2 6nopo Kotneta pribHan 3aneyeHan 100 26,77 176 10 9 13
Kaptodens TonueHelii no
rapHup AepeBeHCKH 180 12,63 221 5 8 33
cnagkoe Komnot 13 cBexux niogos 200 5,30 83 0 0 21
xneb Gen. Xneb nweHUYHLIA 65 3,12 117 3 i 24
xneb yepH. Xneb pwaHoH 42 2,50 81 2 0 18
DpykT ABAOKO 107 10,17 59 0 0 14
80,00




